¥ % E B -2
No. 1
1 2
(1), 28 RN 0<y=<27
(F 2) .m%, —~1 (Fi2) At oRCEERY ]
% o AR |
(R 3). a=2,b=1 M43 APBQ IS AT IR Tl B b,
= AP LAA LDy FEEDE,
/
e [ 222« SB LA QDY EROELE L A5,
| — A LA B ORI,
(B9 5] wrz 50 & FREN(=3,3), (9,21)THD,
. AP OEEEE (s,1) LB L,
[Fl:ﬁ 6] 1 3 O T Cm‘ JI.S.\ P &1’;5\\ A @ y @%Ojﬁgiy
- t—3
(7)) HB LA Q LDy BIEDE,
ﬁ;gg{ﬁj§~ 27—-18=9 LD,
t—3=9
t=3+9=12
S PIEER S LOSETHEND,
12=5s25 Y, s*=3
5P OEEEIL, P (6, 12)
-
A J B




(28— %)
No. 2
3 4
M _a . 2T
(1) ( 60 — & ) iz bl ! om
2| (% ] (7 2) L ostoa By
s JEED

ANAPQ & ABCQIIZEWT,
STEAITE LD,
/AQP= /BQC . - - @

258, CH, EHAPIZSOWTRHUAZSH Y,

ZABP = LACP 72D,
MEAOEBRDOHE LD,
45 A, B, C, PERICHOALIZSD.

—
AB CxT A HEAITE LD,
/APB = /BCA
bbb,
/APQ=/BCQ - - - @
D, @LY, 2EDOANPENTRE LD,
AAPQ oo ABCQ

x
(F5 3}

3 A-EPRQ I,

2 >O=FA4 P—-AER $Q—AER &
SMFTBEMTED,

FRAFENEREZ AAER Tiia,

BD/PQ &V, PQL NAER THDHH D,
2OD=ZFHTVDEREAAERE L7ZEED
ESOMILPQ THD,

SEHFOEBRLD,

PQ = BD=+/67+6" =62,
AC = +/62+6% =6./2

ANAER OmEET,
é—x AEX AC:—%XGXGﬁ:lS\/Z_
EoC, kb B, )
é—x AAER XPQ =~13—>< 184/2 X 6./2
=72 (cm3)
(&) 72 :
183
[FnEj 3) —-———-——-—,}/_ C




